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1. Let us suppose the time evolution equation of the system of two neutral K mesons as follows:

i
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where K(t)=
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M =
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When we represent the system of two particles in the basis of CP eigen-states as
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show the Hamiltonian to be
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Next, on the assumption that there are no terms of δ ′ nor λ′, which violate the CPT symmetry,
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by diagonalizing the above, show that the two neutral K mesons in terms of the mass and
lifetime eigen-state are to be
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,

here m′ and γ ′ are sufficiently small comparing to Mi or Γi.
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